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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 580 2) 302 3) 740 4) 427
X 6 X 6 X 4 x 5 L
2.
3.
4,
5) 231 6) 430 7) 486 8) 621
X 9 X 6 X 3 X 6 5.
6.
7.
8.
9) 690 10) 859 11) 478 12) 554
X 3 X 3 x 8 X 3 9.
10.
11.
12.
13) 833 14) 466 15) 491 16) 903
x 3 x 4 x 2 x 2 13.
14,
15.
16.
17) 435 18) 825 19) 300 20) 542
X 6 X 5 x 6 x 8 17
18.
19.
20.
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1)

5)

9)

13)

17)

Multiplication (Vertical) Name: ~ Answer Key
Solve each problem. Answers
580 2) 302 3) 740 4) 427
X 6 X 6 X 4 X 5 1. 3,480
3,480 1,812 2,960 2,135 ) 1812
3. 2,960
4 2,135
231 6) 430 7) 486 8) 621
X 9 X 6 X 3 X 6 5. 2,079
2,07 2 1,4 72
,079 ,580 , 458 3,726 . 2 580
7. 1,458
8. 3,726
690 10) 859 11) 478 12) 554
x 3 x 3 x 8 x 3 9 2,070
2,070 2,577 3,824 1,662
0. 2,577
un 3,824
1 1,662
833 14) 466 15) 491 16) 903
x 3 x 4 x 2 x 2 13. 2,499
2,499 1,864 982 1,806
u 1,864
1. 082
6. 1,806
435 18) 825 19) 300 20) 542
X §) X 5 i 6 X 8 17. 2,610
2,610 4,125 1,800 4,336
18 4,125
0. 1,800
2. 4,336
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Multiplication (Vertical) Name:
Solve each problem. Answers
2,070 2,580 3,824 2,577
1.
2,960 1,458 1,662 2,079
2,135 3,726 1,812 3,480 2.
3.
1) 580 2) 302 3) 740 4) 427 4.
X 6 X 6 X 4 X 5
o 5.
6.
7.
5) 231 6) 430 7) 486 8) 621 8.
X 9 X 6 X 3 X §)
9.
10.
11.
9 690 10) 859 11) 478 12) 554 1
X 3 X 3 X 8 X 3
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